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1. Original circuit 

 

 

Consider only VA 

 

6 − 𝑉𝑋𝐴
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6 − 𝑉𝑋𝐴 = 0.5𝑉𝑋𝐴 + 𝑉𝑋𝐴 

            6 = 0.5𝑉𝑋𝐴 + 𝑉𝑋𝐴 + 𝑉𝑋𝐴 
            6 = 2.5𝑉𝑋𝐴 

𝑉𝑋𝐴 =
6

2.5
= 2.4 𝑉 

  

Consider only VB 

 

3 − 𝑉𝑋𝐵
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3 − 𝑉𝑋𝐵 = 0.5𝑉𝑋𝐵 + 𝑉𝑋𝐵 

3 = 0.5𝑉𝑋𝐵 + 𝑉𝑋𝐵 + 𝑉𝑋𝐵 

3 = 2.5𝑉𝑋𝐴 

𝑉𝑋𝐵 =
3

2.5
= 1.2 V 
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Combined voltage 

 

Combined current 

 
 

 

2. Original circuit 

 

 

Consider only VA 

 

22 − 𝑉𝑋𝐴
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11 − 0.5𝑉𝑋𝐴 = 0.5𝑉𝑋𝐴 
                   11 = 0.5𝑉𝑋𝐴 + 0.5𝑉𝑋𝐴 

                   11 = 1𝑉𝑋𝐴 
                 𝑉𝑋𝐴 = 11 V 
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Consider only IB 

 

5
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5 = 0.5𝑉𝑋𝐵 + 0.5𝑉𝑋𝐵 

5 = 1𝑉𝑋𝐵 

 𝑉𝑋𝐵 = 5 V 

 

 

 

 

Combined voltage 

 

Combined current 

 
 

3. Original circuit 

 

Consider only VA 

 

Find VXA 
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Specify V1A and V2A on the circuit 

 

Specify I1A and I2A on the circuit 

 

Consider only IB 

 

Find VXB 

 

Specify V1B and V2B on the circuit 

 

Specify I1B and I2B on the circuit 

 

Combined voltage 

 

Combined current 

 
 


